ELEC 120
Foundations of Electrical Engineering
Spring 2007
Homework Assignment #8 – due in class Friday, Apr. 13, 2007
Problems 2.60, 2.62, 3.1, and 3.8 in the textbook, plus the following additional problem:
1. In the circuit shown below, the current i is equal to 62.5 mA when the voltage source is set to 10 V.  Find i when the voltage source is changed to 12 V.  There is an easy way and a difficult way to solve this problem.  For full credit you must find and use the easy way, although you may use a sophisticated solution technique like nodal or mesh analysis to check your answer.  The solution has nothing to do with the fact that the circuit appears to be an R‑2R resistor network.  You should be able to solve the problem using one almost trivial equation.
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Notes and Hints:

You may make reasonable assumptions and approximations in order to compensate for missing information, if any.  Provide the details of each problem solution, including important intermediate steps.  You will not receive credit if you do not show your work.

Prob. 3.1:  In part (a), the voltage should be vL(t), not v(t).  The answer to part (e) is shown below.
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